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1. Which protocol is used for transporting 1.
www documents between the client (web
browser) and server (web browser) ?

(A) ICMP

(B) HTTP

©)

(D)

SNMP

TFTP

2. Which one is not an advantage of using 2.
frequency reuse ?

(A)
(B)
©)
D)

Number of base stations is reduced .
Limited Spectrum is required
Increased Capacity

Same Spectrum may be allo

other network O
'S

3. The minimum n ofspanning trees '{
in a connected grap ith n nodes is :

(a) 1

(B) n-—1

©)

N B

nn—1)

@ =

W(%m)awﬁ(%m)%
T www Wﬁﬁz@émﬁm
Tl 1 ST S ?

(A) ICMP
(B) HTTP
©

(D)

SNMP

TFTP

paCCsil SURIRT SR SN & © ¢

A)Q&@?ﬁaﬁﬁ@rmiﬁaﬁ%
fetﬁﬂﬂagtrﬁ STTergFeRal Bl ¥ |

O (C) wfin 5% Sl

(D) = dogn w1 fE o= Fead R
seifea femen ST G §

A e % FARE UE § %9 ¥ %9 fFm
A A ITAE?

(a) 1

(B) n-1

©)

s

(D) n(n2— 1)
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When an inverter is placed between both
inputs of an SR flip-flop, then resulting
flip-flop is :

(A) JKflip - flop
(B) D flip - flop
(©) T flip - flop

(D) Master slave JK flip - flop

Virtual memory consists of :
(A) Magnetic memory

(B) Dynamic memory

(C) Static memory

(D) - None of these

O
Memory techniques in
which syst ores and retrieves data
from secondary’ storage for use in main
memory is called :
(A) Fragmentation
(B) Paging
(C) Mapping

(D) None of these

9 T SR FRTg-weg % M1 $E & i
oo Tl S § | giomesy
frro-wma e & 1

(A) &% frag - v
(B) < v - %™
() < e - wi
(D) W ®iE S % fiRerd - v

B T T BT |

(.(A) Hfes AHRT

(B) erAfhw AHRY
(C) wfew aurY
(D) ST A FIE T

T AR % g Fehelt RR & §RT SRl
TR0 3R 999 o1 & fau 9ud dhene
Eeaiesl FHEAT B!

(A) Fragmentation
(B) Paging
(C) Mapping
(D) T 4 =18 T
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7.  The hash function f(x)=x mod N with 7. £ HHE f(x) = x mod N 1 3= foF st (x)

linear probing are used to insert the 37,38, 72, 48, 98, 11, 56 H FMTTAH
keys (x) 37, 38, 72, 48, 98, 11, 56 into the 3 O ¥ o fafre wfsn w1 s
hash table of size (N) with indices g o & foad Toa @ WES (N) 3R
0,1, ..., 6. The order of the keys in the ITFT TSRAT 0, 1, ....., 6 FHK q T W
array are given by : 1 W H B ¢

(A) 98,11, 37,38, 72, 56, 48 (A) 98,11, 37, 38, 72, 56, 48

(B) 11, 48, 37, 38, 72, 98, 56 (B) 11, 48, 37, 38, 72, 98, 56

(C) 98, 56, 37, 38,72, 11, 48 (C) 98, 56, 37, 38,72, 11, 48

(D) 72,11, 37, 38, 56, 98, 48 (D) 72& 38, 56, 98, 48

8. In automata theory, a Pushdown 8. AfRto ;!a Theory ¥ Pushdown

Automaton (PDA) is a variation of : ¢+  Automaton (PDA) U& variation ?:
¢
(A) Finite automaton that can make use % (A) Finite Automaton S data I W@
of a stack containing data O % T stack T ST HI ?
(B) infinite automaton that ca (B) Infinite automaton S data & T@H
use of a stack contaim'x@ ¥ AU stack T STAN HIA 81
(C) Both (A) and (B) O )  (A)3ir (B) 3

(D) None of the abg (D) S H & g

9.  Drop table cannot be used to drop a table - 9. Drop table IS 1 ITAN table drop
referenced by constraint. % fo =&l oA foran S Wehal W9 SH W

constraint %l

(A) Primary key (A) I8 key
(B) Sub key (B) ¥ key
(C) Super key (©) TR key
(D) Foreign key (D) R key

SPACE FOR ROUGH WORK / T% &1d & o1&l 318
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10.

11.

12.

Which Class IP addressing are used for 10.

Multicasting ?
(A) Class A
(B) Class B
(C) Class C

(D) Class D

Module design is used to maximize 11.

cohesion and minimize coupling. Which
of the following is the key to implement
this rule ? .

\ *
(A) Encapsulation :%
(B) Abstraction

(C) Inheritance

>

(D) Polymorphi&&

Which is the basic security requirements 12.

as specified in RFC 1825 ?
(A) Confidentiality

(B) Integrity

(C) Authentication

(D) All of the above

HoatshIleT & fou foe s 1P ugfdT i
TN T ?

(A) FE A
(B) ¥ B

(C) € C

(D) /™ D

fou frefafea A R S Fst 87
(A) TTHHRM

(B) TSGR

(© wwfds

(D) TiefHRiEe

RFC 1825 ¥ R aftes Syt feemaw
HATE?

(A)  Himrefaatat
(B) FA

(C) sfafzhem
(D) IR |t
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13.

14.

15.

If a label in domain name is terminated
by a null string, it is called a

(A) Half Domain name

(B) Partially Qualified Domain name
(C) Fully Qualified Domain name
(D) Both (B) and (C)

A metropolitan city with total area of
2500 km? is covered by hexagonal cellular
cell array with 7 cells reuse pattern. The
radius of each cell is 6 km. The cellular
system has been allocated total
bandwidth of 25 MHz and full duplex
channel bandwidth of 30 KHz, total
40 KHz guard band is used as in FDMA
system, there are total 16 contro

channels. How many number of cel

the service area ?

@A) 26 Q
L 2

0 QY

© 27 Q

(D) Infinite \

Where does the swap space reside ?
(A) RAM

(B) Disk

(C) ROM

(D) On-chip cache

13.

14.

4

15.

afz < 3 A A 7@ L g e
fopaT ST 1 I el ¢ :

(A) % ST AT

(B) T FrciwEe ST T
(©) el FcEES S
(D) (B) T (C) &I

2500 TRz &% ara Agmifaea fafe i
7 Ao g Yo & e TR Yeger
TR IAE O A
Jper fown § desierR
30 KHz 1 el SR e
1 3T A1 ¢ FDMA faeen &
W%MKHZW%W-Q’Wng%I

% \aﬁwwﬁaé—r{w% qfeha ufer |

#1 g foradl 82

(A) 26
(B) 25
©) 27

(D) &1

Swap space Fel (el §?

(A) RAM ()

(B) Disk (fsw®)

(C) ROM (IH)

(D) On-chip cache (3T fora %)
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16. Which is more effective while calling the 16, e HIGT H W TG FH{eal A © 2

functions ?
(A) call by value (A) =T IR oy
(B) call by reference (B) T W8 YHLH
(C) call by pointer (C) T =18 UIEX
(D) all of the above (D) U |t
17. A weak entity set in ER-diagram has : 17. ER-diagram T weak entity set H .
(A) No attributes A (A) attributes &l B
(B) Does not have sufficient attributes B) ttributes 78T BN HAL Y (key)

to form a primary key O & forg
(C) Weak primary key - Qg ek (Weak) S7t &Y (key) BT §
(D) More than one primary key ’\ s D) T q oifyes Tmd Y B

identities are true ? agefeq €2 '

(A) R()=r* 6Q (A) RE)=r*

(B) (s =(r+s)* (B) (s =(r+s)"

©Q (+s)=r* % (C) (@+s)=r*+s*

(D) r*s*= (D) r*s*=r*+g*

18. Which of the following regular expr;&@ 18. =1 4 4§ 91 W VIR WA ¥ 9

19. What is the worst case time complexity ~ 19. o Gié o1 o 9 H erq wirifRa! T

of Quick Sort ? ®?

(&) Oomd) (4) O@w?)
(B) Om27) (B) Om271)
© Oomd © OmY
(D) O logyn) (D) Ofn log;n)

SPACE FOR ROUGH WORK / &% &1 & f&d sig
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20.
(a)

(b)

(€)

(d)

(&)

(B)

©)

(D)

Choose the correct answer :

In half duplex transmission, the
physical layers decide who will

transmit.

Activation and deactivation of the
physical connection is a confirmed

service.

The physical layer just converts bits
into electrical signals and vice-versa.
Clock and signal encoding are data
link layer functions.

The Protocol Control Information
(PCI) at the physical layer is usually
sent on separate wires.

(@) True

(b) False

(c) True

(d) False

(@) True Q
(b) True 4 O
(c) False %
(d) Fals Q

() Fals:\'

(b) False

(c) False

(d) True

(a) False

(b) False

() True

(d) True

20.

4

O

(a)

(b)

(d)

(3 S €|
%\@

(B)

©

(D)

uﬁwgﬁﬁ

T S g § fsted dad
fearss w4 ¢ f oF Ziawe Hum|

firsiee HAaeE ®1 TREYHE T
feTaRIaTH T ShH Hel Bl B |

fipstiorel oRR Ot fa2g &1 sl
friet o oo © ol gus fauda ot
S| Ften aen fama Teifen
L SR e BT B

T YT GIEHIA FHgrad
(PCT) 3T TR R 37T arad

(@ T
by HATF
(9 ¥
(d) 31HFT
(a) THA
(b) wA
() &HA
(d) HAFF
(a) THA
(b)y JTF
(c) &EA
(d)y 93F
(a) SHX
(b)y THEA
(c) I
(dy T4
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21. Table Employee has 10 records. It has a
non-null SALARY column which is also
unique. The output of the following SQL

statement 1is :

SELECT COUNT (*) FROM Employee
WHERE SALARY > ALL (SELECT
SALARY FROM EMPLOYEE);

(A) 10

(B) 9

What will be the value of x
execution of the followin

22, er

nt ?
(C language)
.

int x=0, y=4; %
S
y=x++;

(A) 5,4

(B) 65

(C) 66

(D) 5,5

4

>,

Employee 8@ ® 10 R&E 81 304
non-null SALARY % 8 S unique
¥ frfafea SQL statement 1 3182y
ik

SELECT COUNT (*) FROM Employee
WHERE SALARY > ALL (SELECT
SALARY FROM EMPLOYEE);

(A) 10
(B®
& s

*

x ﬁ?ymm'ﬁﬁ"ﬂ: (C?TTQGT)

22,

int x=0, y=4;
x=y++;
y=x++;
(A) 5,4
(®B) 6,5
(C) 6,6

(D) 5,5

SPACE FOR ROUGH WORK / 1% & & f&d Smg
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23. Consider the following code -
main ()
{
float me=0.7;
double you=0.7;
if (me= =you)
printf("I like this”);
else
printf(“I don’t like this”);
)
The output is :
(A) Ilike this
(B) Idon'tlike this

(C) nothing

)

24. Which one of the
true for int foo( y

(A) foois a function of return type float

and argument type int.

(B) foo is a function of return type int

and argument type float.

(C) foo is not a function.

(D) foo stands for a function of object

oriented programming,.

(D) garbage OQ
.
g statement is

23.

4

24.

frefafed code W faem X -
main ()
{

float me=10.7;

double you=0.7;

if (me = =you)

printf(“I like this”);

else
print@ t like this”);
O

output £

\(‘
% A) 1like this
O (B) Idon’tlike this

(€C) nothing

(D) garbage

0 @ FE TF FUA int foo(float) F ol
@ e

(&) foo T Wher & ot fe g e
R e oEy 5 B

(B) foo T oM & forweht e ory 3=
afi sifupiie TRy wiE B

(C) foo T e el ¥l

(D) foo dfedee ShfTe FOHT & TH
e 1 el Tl

SPACE FOR ROUGH WORK / T® &1 & for&t sirg
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25. Which two channels are responsible for 25.

initiating mobile calls ?
(A) FVC and FCC
(B) FCC and RVC
(C) FVCand RVC

(D) FCC and RCC

26. Which one is correct ? 26.

In

(A) Primary key < super key
candidate key

(B) Candidate key < super key ¢
primary key

(C) Primary key c candidate k
super key

(D) Super key c pr'bgkey

candidate key ¢

n

27. When the ma&?dock rate is quoted ~ 27.

for a logic family, then it applies to a :

(A) shift register
(B) flip-flop
(C) counter

(D) single logic gate

o

S

HEEE Hicd & AV & fAT wH 9 S = d
IS B ® 2

(A) FVC SR FCC
(B) FCC 3R RVC
(C) FVC 3R RVC

(D) FCC i RCC

e T2
( B W Bl ¢ Hiese ot

B) Hfede #F ¢ YW &t ¢ WAl Ht

(C) YAl &l ¢ Hfese & ¢ g &t

(D) W &l c YA it ¢ Hfege it

v SAfteRa W T TH AR S &
fusgafrnSmg,diae . W
AN AT

(A) T R
(B) TwT9-wmg
(C) FRX

(D) fame @ifsrs T2

SPACE FOR ROUGH WORK / % & & el smig
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28.

29.

30.

101195

In which of the following page 28. = W § -9l page replacement policies

replacement policies Balady’s anomaly Balady’s anomaly =t ?7?
occurs ?

(A) FIFO - (A) frm (FIFO)

(B) LRU (B) W3, (LRU)
(C) LFU (C) TA.TEY, (LFU)
(D) NRU (D) TA.3RY, (NRU)

The value 234.596 can be represented 29. fog 321 2R 9 a?"'ﬁ 234596 W WaRid

using which data type ? feparn S HehaT § 2

(A) numeric (A) nupagr

(B) integer (B) r

(C) short ( rt

(D) double . (P) double

What is the output of following progr frafafea 9w @S &1 output F 7?7
segment ?

main () Q main ()
{ O {

int count, digit=0; int count, digit=0;

count=1; count=1;
while (digit % while (digit <=9)
CRY |
printf(“ %d\n", ++ count); ++ digit; printf(“ %d\n", ++ count); ++ digit;
} }
) )
(A) 10 (A) 10
B 9 B 9
<) 12 © 12
(D) 11 (D) 11

SPACE FOR ROUGH WORK / T% &md & fa& g
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31.

32.

Virtual memory is :
(A) an extremely large main memory

(B) an extremely large secondary
memory

(C) a type of memory used in super
computers

(D) an illusion of an extremely large

memory

Name the technique use to control the
amount and rate of traffic sent to the
network (traffic shaping).

(A) Token Bucket
(B) Leaky Bucket

(C) Both (A) and (B

O

31.

32.

Virtual memory T
(A) an extremely large main memory

(B) an extremely large secondary
mernory

(C) a type of memory used in super
computers

(D) an illusion of an extremely large

memory

Q&

ZifRes QG § 99 S 916 7T OF
R H T & e w&@m 9 e 9
FIE I A AR

OQ (A) ZHT Tohe

(B) ey e
(C) (A) T (B) T

(D) None of these% (D) 3T &g
33. Which logic farruly is the fastest ?’ 33. HH © dffaes Hivel To@ a1 8?2
(A) DTL (A) DTL
(B) TTL (B) TTL
(©) ECL (C) ECL
(D) CMOS (D) CMOS
SPACE FOR ROUGH WORK / W% &l & {1 g
Set - A 1208/NE-BQ/RCE-M



34. Cache memory acts between : 34.

(A) RAM and ROM
(B) CPU and RAM
(C) CPU and ROM

(D) CPU and Hard disk

35.  Which of the following cannot be checked 35.

in a switch case statement ?
(A) int
(B) char

(C) float

A F e wE w8
(A) RAM 3R ROM

(B) CPU 3R RAM

(C) CPU 3R ROM

(D) CPU iR &€ feh

Switch case statement A da o
T ®?

(D) enum %\6) enum

36. The availability of complex soft 36.

80%. Its Mean Time Betwe e
(MTBF) is 100 days. Becwse@ ritical
nature of the usage, rganization
f further
enhanced it to c& af availability of
85%. In the processfthe Mean Time To
Repair (MTTR) increased by 5 days. What
is the MTBF of the enhanced software ?

deploying the

(A) 200 days
(B) 180 days
(C) 170 days

(D) 160 days

T wfee TiTEaal i SYereHd 80% ©)
foperal (TH.A.I.TF.) & 9 59 3T
T 100 f& &1 STAM Wt HEEq WHid &
FHRO, TRIT H A B AR ST A
T 85% T STl I HE & foI Al
ern1 whwdn §, TOwa & fog HA e
(Ta.AA.em) 5 Tl =) gfg gg! Sa
s/w % MTBF &1 ¢ ?

(A) 200 feaq
(B) 180 femw
() 170 feawm
(D) 160 feo™

SPACE FOR ROUGH WORK / % &Td & o/ s
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U A w1 Teamy & < famia fdia wear ®

37. Which device receives a signal and before 37.
it becomes too weak or corrupted 3R TT%h FASIR A F< B F [ & g
regenerates the original bit pattern ? foe o 1 gRecfca e 82
(A) Router (A) ®X
(B) Repeater (B) fdtex
(C) Bridge (C) s
(D) Passive hub (D) tfgs s
38. If the CPU Scheduling Policy is SJF with 38. Scheduling Policy pre-emption
pre-emption, the average waiting time SJF %, W@ average waiting time 1
will be : . ?
\ *
(A) 8ms :% (A) 8ms
(B) 14 ms (B) 14 ms
(C) 5.6 ms \Q (©) 56 ms
O
(D) None of thes% (D) T 9 & T
39. What Mnemonic represents ? 39. Mnemonic T YE¥id @ © 2
(A) String (A) String
(B) Physical address (B) Physical address
(C) Operation address (€) Operation address
(D) Operation codes (D) Operation codes
SPACE FOR ROUGH WORK / % &Td & o g
Set- A 16 1208/NE-BQ/RCE-M



40.

41.

42,

Let L, be a fegular language, L, be a 40,

deterministic CFL and L be a recursively

Enumerable but not recursive.
Which one of the following is false ?
(A) 'Ll N L, is deterministic CFL
(B) LsnL,isrecursive

© Lyul,is Céntext free

(D) L, ) L, n Ly is recursively
enumerable

What does the following declaration 41.

2
mean ¢ .

int (*ptr) [20];
(A) ptrisarray of pointers to 20 integ O
(B) ptr is an array of 20 integer.

(C) ptr is a pointer to a f 20
.

integers

(D) ptris poin

Which of the following does not interrupt ~ 42.

a running process ?

(A) A device

(B) Timer

(C) Scheduler process

(D) Power failure

pEd L; T {7’ 9T (language), L,
feexfufafiess CFL R L, T recursively
Enumerable ¥ =] Recursive & 2

378 ¥ A W I 2
(A) L, L,deterministic CFL ¥
(B) L Ly recursive ¥
(C) L, v L, context free g
(D). L, L,NLsrecursively enumerable
® @
_ ration T 318 FTT?

int (*ptr) [201

(A) ptrisarray of pointers to 20 integers
(B) ptr is an array of 20 integers

(C) ptr is a pointer to an array of 20

integers

(D) ptr is pointer to array

f7= ¥ ¥ $ running process ¥ HY
& T §?

(A) Teomsd (A device)
(B) <M (Timer)
(C) WS q@AY (Scheduler process)

(D) & TR (Power failure)

SPACE FOR ROUGH WORK / % &1 & fo& e
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43.

44,

How many 32 Kx1 RAM chips are
needed to provided a memory capacity
of 256 K bytes ?

(A) 8
(B) 32
(C) 64

(D) 128

The most widely used standard for cellular

communications is :

(A) The Advanced Mobile Phone n

Service (AMPS)

\ *
(B) Code Division Multiple AC(@Q (B)

(CDMA)

(C) The Mobile Telep i g
Office (MTSO)

L 2
(D) The Mobile s@

Unit (MSU)

43.

44.

256 K bytes memory capacity i gfael

7 % fau fRa 32 K x 1 RAM &t STTereaiehdl
Bt 2
(A) 8
(B) 32
(C) 64
(D) 128
& fou waifas =g
e T
CAJ & Teaige Wemse wF 9fdd (AMPS)
I fedlem AU THRY (CDMA)

(C) f& HArama 2w wifen ifew
(MTSO)

(D) f& HieTEa HewAEER IR (MSU)

45, Theitemsofa stack are accessed in which 45. W& & oM3eH & %9 %9 ¥ www fea
order ? S ?
(A) LIFO (A) LIFO
(B) FIFO (B) FIFO
(C) FILO (C) FILO
(D) LILO (D) LILO
SPACE FOR ROUGH WORK / 1% & & {e1d S7Te
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46. The relation supp-order (supplier_no,
Supp_ord_no, supp_name, qty_sup,

Unit_price) is in 2 NF because :

(A) Non-key attribute supp_name is
dependent on supplier_no which is
part of composite key.

(B)

Non-key attribute supp_name is
dependent on qty_sup-.

(C) Key attribute Unit_price is

dependent on primary key qty_sup..

Key attribute supp_ord_no is

(D)
dependent on primary key qty_sup-

47. Average process size is s bytes. Each page

"

entry requires e bytes. The optimum page '

size, is given by :
(A)
(B)

(se)

(2se)

R
&
O

48. How many parameters can be passed to

a function in C ?
(A)
(B)
©)
(D)

Zero
One
Two

As many parameters as are defined
in the function definition

O (4)

frawm
supp_ord_no, supp_name, qty_sup,

Unit_price) 2 NF § § #iif :

46. supp-order (supplier_no,

(A) Non-key attribute supp_name
supplier_no M et § St composite

key I part 7l

Non-key attribute supp_name

qty_sup % FT TR B

(B)

Key attribute Unit_price Fd w1
qty_sup F em et 21

©

ute supp_ord_no I A
u Freft R

47. Mwmsm% Y& page

ertry 1 e bytes W SET ¢! optimum
age size T g

(se)

(2se)

(D) Keya

(B)
©) s
(D) e

C % Fer § foran Sueiex wr feean < wehan
¥?

A) @

(B) Th

©

(D) fore T e # aftfa fown
T ]

48.

SPACE FOR ROUGH WORK / T% & & ot srg
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49,

50.

51.

In a network implementing mobile IP, if
a mobile node discovers that it is located

in its home network :

(A) It sends an Agent Solicitation

(B) It does nothing related to mobility
(C) It send a registration |

(D) It performs decapsulation on
received packets

An undirected graph with n vertices and
e edges are represented by adjacency
matrix. What is the time required to

determine whether the graph is®

connected ?

(&) Of)

(B Om)

(©) Om?) R 60
(D) O(e+n) %

RS

This procedure can be described by the
three major components of Mobile IP :

(A) Agent discovery
(B) Registration
(C) Tunneling

(D) Al of the above

49.

51.

TerEe [P e & a1 J2as | Afg
Teh HisIEel IS ! 9al ol § 5 a8 ot
B A2 H clihes T @1 9% ¢

(A) TS Gt F5m

(B) WiSifare ¥ Haftd $© & wum
(C) =8 Yo 93

(D) %mmmmm

4 s gy n weizdy ek

ol Tkt Az @ yefifa e
T UF H Hdes 999 & & fhaq

\‘ 2MEH Y ST © ?

>

(A) Ofe)
(B) Ofn)
@ o)

(D) O(e+n)

Herse [P % 9 &7 U2l % g IR
Y afvla feman <1 TewaT ® ¢

(A) = fewmrad
(B) YSfEwM
©) gfer
(D) W gt

SPACE FOR ROUGH WORK / 1% @14 & &t srg
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“

52. Consider the following statement - 52
inti=4, j=3, k=0;

k= ++i-—-jtitt ———jH ++

what will be the value of i, j and k after
the statement ?

(A) 7,28
(B) 6,28
(C) 5,2, 10
(D) 4,28

frfafiga statement W foER X ¢
inti=4, j=3, k=0;

k=++i---jti++ —--jHj++

statement & 9K i, j, k 1 4T value BT ?

(A) 7,28
(B) 6,2 8
(€) 5,210

&

53. The quick design of a software that is 53. F@ TR ol wfig fesme S 3ifa|

visible to end users leads to _____. ’\Wsﬁ ¥ fog qrEmR B €

(A) Spiral model (A) TR Hisd

(B) Waterfall model O (B) aRTwH HigH

(C) Prototype model (C) TRRREY Hed

(D) Iterative model 69 (D) 3fea Aiew

54. Minimum numy‘@bles required to 54, 9 fT T ER-diagram I table ¥ B

convert the belowNER-diagram to tables : ¥ T STEva tables H FAqH TEAT :
[ A —=<@>—{B }—<®>=—{C] A =R B }—<R>={ C ]

(A) 3 (A) 3

(B) 2 (B) 2

C) 4 © 4

(D) 5 (D) 5

SPACE FOR ROUGH WORK / T% T4 & fo&l Sig
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55. Cyclomatic complexity ofamodule which ~ 55. T& TEA $I oo weaifeae e
has nine edges and six nodes is F ey R BTASH T
(A) 6 (A) 6
(B) 4 (B) 4
© 5 (C) 5
D) 7 D)y 7
56. C programming language by itself &§’(§F@Tﬂ EE | TEES Nl ©
provides :
(A) input facility % (A) e Hiufad
(B) output facility O (B) =T=eye Hfafeet
(C) Dboth input and ou (C) e 3R smeeqe Hfafaet <l
(D) no input and«ou:@ ility (D) 7 579 3R sM=seye Hiafeet
S
57. Which of t}&mg CF language is 57. =1 9 4 =F @ CF language inherently
inherently ambiguous ? ambiguous 77
(A) f{a"b"c™d™|n, m=1} (A) f{a"b"c™d™|n, m=1}
(B) {a™ b™ ¢P d4|n=p or m=q, (B) {a" b™ cP d9|n=p AYHGI m=q,
n, m, p, q=1} n,m, p, q=1}
(©) {a"bmcPdl|nzmnp=q} (© {@"b™cPdd|nzmnp#q}
(D) f{a"b™cPdd|nzmup#q} (D) {a"bMmcPdd|nzmup=q}
SPACE FOR ROUGH WORK / % & & o/ stig
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58.

Consider the following DFA given below.

—(a ;_, :
Y

Which of the following are false ?

(2)

(b)

(d)

(A)

(B)

©)

(D)

Complement of L(A) is context free

For the language accept

is DFA . O

A accepts@ver {1, 0} of
length at&

(a) and (c) only
(b) and (d) only
(b) and (c) only

(c) and (d) only

58.

f=1 DFA fenman & -

@) Gy
i

Jo, 1

e @TW?H

(g)L(A) %1 Complement context free

(A)

(B)

©

(D)

¥
L(A) = L(11*0 + 0)((0 + 1)*)*1*

A &% BN language e & el
A DFA®

(1,0} & @+l strh\gs%ﬁ‘IAw
%WlengthWﬁWZ'@

(a) R () fak
(b) i (d) fah
(b) 3R (c) fah

(c) ¥t (d) fath

SPACE FOR ROUGH WORK / T% &Td & ol SF
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59,

Which of the following statement is  59.

false ?

(A) The halting problem for TM is
undecidable

(B) Deterministic whether ambiguity in
CFG is undecidable

(C) Giventwo arbitrary CFG G, and G,,
whether L(G;) =L(Gy,)

(D) Given two regular Grammars G
and G, it is undecidable whether
LGy =L(Gy)

e § Q@ 91 o e e §2

(A) it w9 % faT Halting problem
undecidable ¥

(B) CFG ¥ ambiguity undecidable 7

(C) arbitrary CFG G, 3R G, fear g, &
L(Gy) =L(Gy)

(D) 3 regular Grammar G, it G, fean
decidable ¥ . L(G,)=L(Gy)

S

60. The extent to which a software performs * 60.‘ NH R T ™ Tl fawmaaes & fom
its intended functions without failures, i \ YA 3fezd HEf A HET %, 39 TH YHR FHal
termed as : O SIS
(A) Robustness (A) qI=TH
(B) Reliability Q (B) Remafsfeed
(C) Correctness o O (C) HwR"™
(D) Accuracy (D) TR

61. ABCNFis: { BCNF % :

(A) Lossless join and dependency (A) EAH ST 3R f@ﬁ@'{ﬁ ﬁr@ﬁrr
preserving
(B) Lossless join but not dependency (B) <irgerd same § wifea fetiSst firdfdn
preserving T
(C) Not lossless join but dependency (C) wiHed s @ 7 afea fedsd
preserving frafmg
(D) None of these (D) T8 9 %5 T
SPACE FOR ROUGH WORK / % &/ & &l wmg
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62. Consider a B+tree in which the

maximum number of keys in a node is 5.
What is the minimum number of keys in
any non-root node ?

(A) 2
(B) 1
© 4

(D) 3

T o + 21 R forem Y o e | arferehan
5 Fe %1 forelt R-we e § et il A
N F & ?

62.

(A)
(B)
©)
(D) @
o

A

63. The time complexity of recurrencerelation ~ 63. #@;ﬁﬂa T(n)=mT(n/2) +an? =l ATH
T(n)=mT(n/2)+an? is : . T faram 82
¢
(A) O(m?) O (A) O(m")
(B) O®m™) é (B) O™
(©) O(mlogn) Q (C) Ofmlogn)
(D) O(nlog m) @O (D) O(n log m)
64. Termthatis used\fof stationary or mobile 64. TIAQ gl Hiesd R WIA a9
wireless station and also have optional Yopfeaew FEd 99 VI F ¢ 7R )

central base station is called.
(A)
(B)
©
(D)

Point to point
Multi point
Access point

Network point

1 BT S @ ©

(A) Tig=-Z-UEE
(B) Wl UiE=
(C) TFH iEe
(D) “eeh UiEe

SPACE FOR ROUGH WORK / T% &1d & ford <me
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65. Consider the tree shown below 65. T fem® M fo5 =) fEd

@ D
: i
@) ® © @ @ & © @

Ifg Ui e ToHe ab—cd++ A1 € 99

If the post order traversal gives ab — cd* +

then the label of thenodes 1, 2,3, ... will Ml w1, 2,3,...8°:
be:

(A) +,-,%ab,cd (M& *,a,b, ¢ d
(B) alblcld/ —/*/.+ ( /b/C/d/ — 7S, +

©)

a, —, b/ +,¢ %, d

a, _Ibl +,¢ *rd

(D) —,ab, +,%cd Q\, (D) —-,ab +,%cd
66. A shift register can be used for : O 66. T et =1 39am & fam
T THA T
(A) Parallel to serial cont (A) FHIR H gREmR H a5
(B) Serial to paralt rsion (B) ARl sl HHI H wker
(C) Digital dela (C) fefsea fear @
(D) Al of& (D) SWrR &t
67. Simplification of function by K-map 67. X-map % N HeRIT 1 TR FH F
requires that the function should be in feTe. e T A S g
the : gl
(A) SOP form (A) SOP form
(B) POS form (B) POS form
(C) Cononical form (C) Cononical form
(D) All of above (D) S9leRt |4t
SPACE FOR ROUGH WORK / 1% &1d & fort smg
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68. A full binary tree with n leaves 68. n Ul % TH WYY e Ug A

contains : AT
(A) nnodes (A) n red
(B) log,n nodes (B) logyn Jred
(C) 22~1nodes (C) 201 Arig|
(D) 2" nodes (D) 2nHIgH
69. Which mean the signal changes its form  69. ] 7ol areren 99 Rl Sreran ¢ feReeh
or shape ? srf ¥ 2
(A) Distortion
(B) Attenuation @ém
(C) Noise

(D) Induced Noise

OQ o) e

70. What is the weight of sh@s:ance 70. ASKTw F TR TR A F T Al
-_— . .

for a path from A to K ? e fepa €2

A HK

D3 G3
(A) 8 (A) 8
® 9 ®
(€ 10 ) 10
(D) 11 (D) 11

SPACE FOR ROUGH WORK / % wtd & fe1dl s

1208/ NE-BQ/RCE-M 27 Set-A



71. Consider the CFG with {S, A, B} as the
non-terminal alphabet {a, b} as the
Terminal alphabet, S as the start symbol

and the following set of production

rules :

S—aB S - bA
B—-b A—>a

B - bS A — aS
B — aBB A — bAA

Which of the following strings is
generated by the grammar ?

fa@ §¢ CFG ¥ {S, A, B} Non-Terminal
alphabet %, {a, b} Terminal alphabet £S
IRfYF symbol 31 AT fymafafea
production rules g

71.

S — aB S — bA
B—-b A—>a
B — bS A —aS
B— A — bAA

B | strings grammar % gl
erate G ¥ ?

e
(A) aa aabb %\ * (A) aaaabb
(B) aabbbb O (B) aabbbb
(C) aabbab (C) aabbab
(D) abbbba . OQ (D) abbbba
&>
72. InC ifyou p&ay asanargument  72. C ¥ AT 319 Gl H 3N &l Th A &
to a function, what actually gets passed ? 9 T 99 A 7 d Arafors § 1 99 g
€7

(A) base address of the array

first element of the array

(B)

(A) 3R I base address

(B) 3T first element

(C) address of the last element of array (C) 3N A last element T TSH
(D) value of elements in array (D) 3T elements T AT
SPACE FOR ROUGH WORK / 1% 14 & &l g
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73. A cellular system with 25 MHz total
bandwidth is allocated for duplex
communication. Each simplex channel

is 30 KHz. The frequency reuse factor for

73. g wfey & faT 25 MHz $9
Fedrer # w Aoger oA srefed fwa
T g faree 9 30 KHz &1 8
fomn = R S hRT 7 ¥ g

the system is 7. How many total number Il i e E
of duplex channels ?

(A) 414 (A) 414

(B) 416 (B) 416

(C) 418 (C) 418

(D) 412 (D) 412@

74. Which reason hexagon shape is used for 74. v faen © ekl #a &
radio coverage for a cellular o HI %‘g’; FECIUERICECT] I9GNT B
communication system ? \ #7?

(A) It uses the maximum area foO (A) oS & foe el eifen &5 1 ST
coverage Ezc g
(B) Fewer number of cells @r; (B) A H FO 2 sl @ sfegehdl
o :
(C) The equal powepgill b’ delivered (C) e el § Teh T e <Rl foatm
to each m% eI |
(D) All of the’& (D) ST Tl
75. Alpha and beta testing are forms of : 45. el 3R st wier F T
.
(A) Acceptance testing (A) e e
(B) Integration testing (B) £ N A TSAl
(C) System testing () fawn AN
(D) Unit testing (D) YR A&
SPACE FOR ROUGH WORK / T &rd & Tl Wtg
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76. The Relational algebra expression  76.

equivalent to the following tuple calculus
expression

x € R A (x[A]=15 A x[B]=50) is :

A) oa=15® Vop_s)®

(B)  oa=15 B=s50)"

©) op-15® - og-s)®
D) oa=15® N og_sy®

77. In which of the following SQL statement  77.

is illegal (error) ?

(A) Select SYSDATE - SYSDATE from

frefafed eqma Fogad & 99qe

Relational algebra expression

x € R A (x[A]=15 A x[B] =50) ¥ :
(A)  0(4=150 U og_sp)®

(B) oa=15 5=50"

©) opa-15® = op_sy
(D) oa-15® N og_s®

(R)

T

9T (SQL) statement & error ¥ ?

Select SYSDATE - SYSDATE from
DUAL;

DUAL;
(B) Select SYSDATE - (SYSDATE — 2)’\ o (B) Select SYSDATE - (SYSDATE -2)
from DUAL; from DUAL;
(C) Select SYSDATE - (SYSDA Q (C) Select SYSDATE - (SYSDATE +2)
from DUAL; from DUAL;
(D) None of these Q (D) T 9 %K Tl
. ‘
78. Output produce e following  78. Tr=fafed dum @€ &1 Output F17?
program seggqe
int X; \ int X;
X=1; X=1;
X=2; X=2;
X=3; X=3;
printf(“ %d %d %d\n",X,X,X); printf(“%d%d%d\n",X,X,X);
(A) 111 (A) 111
(B) 222 (B) 222
(C) 333 (C) 333
(D) 123 (D) 123
SPACE FOR ROUGH WORK / % &t & o1l Sig
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79. A mechanism used by hosts and gateway ~ 79. T# T foraent SUd S Wy &
to send notification of datagram problems AfRFFYE 1 B 91 Ted & AThd § et
back to the sender : aﬁwﬁaﬁ%mmw%ﬁ:

(A) IGMP (A) IGMP
(B) ICMP (B) ICMP
(C) RARP (C) RARP
(D) ARP (D) ARP
80. How are the constants declared in C++? 0.
(A) # define preprocessor
(B) Const keyword
. .
(C) both (A) and (B) \ J{O)  (A) R (B) T
(D) # declare preprocessor O% (D) # declare e
81. A multiplexer is also known ass 81, WEITAFR  off g Bl
(A) coder O% (A) &
.
(B) decoder % (B) Temrst
(C) data seleaQ (C) TR FAFR
(D) mulﬁvib& (D) AR

82. Recursively enumerable languages are 82. Teerdfaeh sgmiea oy Foret o 9 feeren st
not closed under : TS e & 2
(A) Union (A) FfEA
(B) Homomorphism (B) SHMRI=H
(C) Complementation (©) FHTATHIA
(D) Concatenation (D) HTHIEAIA

SPACE FOR ROUGH WORK / T &Td & fo& <me
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83. A context diagram : 83. TS HITRT TEUM :

(A) Describes the context of a system (A) T& JUel % deY @1 9 ]

(B) is a DFD which gives an overview (B) TH SLUR.EL T St fawa w1 ™
of the system fogaaie Sm R |

(C) is a detailed description of a system (C) T YUrredt sl Ueh forga faerm ]

(D) is not used in drawing a detailed (D) T forga .U ST H SuEnT T
DFD foan s 21

84. Consider the following code to identify 4 fea % fod fore 9 1 Hgey
the class for which constructor will be BRI ?

called first ? ()

class X { }; \ o class X {

class Y {}; J O% class Y {};

class Z : public X, public Y { }; class Z : public X, public Y { };
(A) X() \Q (a) X()

B Y() . O B Y()

© Z() ®\ © Z()

(D) None g&ove (D) W H ¥ $ &

85. Waterfall model is not suitable for : 85. dieX TieT Hige SUYH &l © :

(A) Small and sinﬁple projects (A) B IR T wfEse & fag
(B) Accommodating changes (B) HHRISH gREdd & fag

(C) Testing (C) uigw & fag

(D) Implementation (D) FEEE & fag

SPACE FOR ROUGH WORK / T% &1 & fod sire
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86.

87.

88.

The most desirable form of coupling
between modules is a combination of :

(A) Control Coupling and Stamp

Coupling

(B) Content Coupling and Common
Coupling

(C) Data Coupling and Stamp
Coupling

(D) Control Coupling and Data
Coupling

A computer has 6 tape drives with n
processes completing for them. Each
process may need two drives. For which

2

87.

4

values of n, is the system deadlock free O

(Aa) 1
(B) 2 Q
(D) 6 Q

N

A highly accurate error detection based
on interpreting a pattern of bits as
polynomial :

(A) Check sum

(B) Two dimentional parity check
(C) Cyclic redundancy check

(D) Simple parity check

88.

Coupling (FUfET) &1 @ AT T4
PHAR?

(A) hera wufan SR L Hufe
(B) T U SR B Hufe
(C) oI HUEAT SR T HufeT

(D) weid Fafan IR gt Hufe

@?‘(%Wétapei{ﬁﬂ%ﬁ

nprocess'ﬂﬂT‘?TW?%T%l s TE &
fu @ drives #1 STEvAHA T n F
HIA-H! value % AT system deadlock free
??

(a) 1
(B)
©)
(D)

A W N

e ifaaer % &q ¥ foel & Yed & g
¥ seTia erel TRE TR feeavm ¢ :

(A) <% A
(B) T SrEHv A 9F

€) wrafss Rete=d 9=
(D) foe A& ==

SPACE FOR ROUGH WORK / & & & for&t st
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89. The time required for a gate or invertor 89.

to change its state is :
(A) rise time

(B) decay time

(C) propagation time

(D) charging time

90. The interference between the neighboring  90.

base stations is avoided by :

(A) Using transmitters with different

power level ¢

(B) Assigning different grou
channels

(C) Using different ante

(D) All of the abqye O

91. Equivalenc@ning is a 91.

method that divides the input domain of
a program into classes of data from which

test cases can be derived.

(A) White-box testing

(B) Stress testing

(C) Orthogonal Array testing

(D) Black-box testing

%

e o1 soex i feufd agem & fau s&0
a7

(A) TEH 2T
(B) Te& zrH

(C) HIUFH 2reH
(D) =nfsi argH

| & o 3= maey &l el S

o= wreR Soret IR 2R 3 39T
q

(B) <t i f-farm T T

(C) Tr-fa= af=l & suam 4
(D) 3Tl w4t

qasy faaee fafa & =
farel! W % $TE S 1 S & o A
faufera = §, foad @ o= F9 ga=
foru < wd §

(A) rEE-da e
(B) T lEn

(C) shrgirer 3R 2
(D) =ip-siad =T

SPACE FOR ROUGH WORK / 1% &Td & &l Sig
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92. Software Requirements Specification  92.
(SRS) specifies :

(A) Input and output requirements for
the s/w product

(B) Functional requirements for the

s/w product

(C) Testing requirements for the s/w
product

(D) Cost requirements for the s/w
product

93. How many runtime error messages are é
associated with exception ?
(A) 2 O
(B) 4
<© 5 . OQ
>
O

94. Which of the following is not defined ina ~ 94.
good Software Requirement Specification
(SRS) document ?

(D) 6

(A) Algorithm for s/w implementation
(B) Goals of implementation
(C) Non-functional Requirement

(D) Functional Requirement

g feamsa= Afafrswm ke
TS

(A) FHRAW IO & fa g7 R
SR SNATIHALS] ol

(B) SR STERHAY TRTT UG &
fag

(€ TwRIW I F fag wwiem

SAEAYIFHARA hI
(D) 4, sue & fag @rTa
<
TRSA % Y fRa TReRA TR T8 89
¥?
(A) 2
(B) 4
© 5
(D) 6

TH ST WiRda sravgwar fafra
(TH.oMTY.) saes ¥ = § § s W
Hifed & & ?

(A) TR wEFEET % g il
(B) wEEET & W&

(C) TR-wraleT STavawHan

(D) e STTTAHATL

SPACE FOR ROUGH WORK / T% &1 & o S1E
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95. Consider the following performance table 95. FCFS scheduling % fe f TR TR
for FCFS scheduling. For this batch of & M ®1 W batch processes % forT
processes, the Throughput will be :- Throughput 31 B ?

Position | Job Arrival |Job Completion Position | Job Arrival |Job Completion
in batch | Time (A)) Time (C;) in batch | Time (A)) Time (C))
1 3 8 1 3 8
2 8 10 2 8 10
3 10 16 3 10 16
4 12 18 4 12 18
5 15 29 5 15 29

(A) 0.184 <)0)184

(B) 0.192 ’\ (B) 0.192

(C) 0.269 OQ (C) 0.269

(D) 0.238 (D) 0.238
O

96. In which mobile can  96. Tod® % M, fora T B, HEET,
simultanem& mmunicate with more T O s 99 WIF ¥ T WY wgfiae
than one BaS€ Station during the T AT § 7
handoff ?

(A) Hard A) TS
(B) Soft (B) dIE
(C) Medium () wifeaw
(D) None of these (D) ST H 13 T
SPACE FOR ROUGH WORK / 1% & & o sg
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97. How many NAND gates are needed to 97. X.Y. @it e W TSI % foa fee

perform the logic function X.Y. ? NAND 712 %! %X gl © ?
(a) 1 (A) 1
(B 2 (B) 2
< 3 © 3
D) 4 (D) 4

98. How many minimum colors are needed 98. = KA ™ ww w TN & fod ww G W

to color the following graph ? BTk T"ﬁ@? 77
B

D

A) 4 é A) 4

(B) 3
(C) 6 éo (C 6
(D) 5 \\'Q (D) 5

99, Thelogical values is represented by which 99. BN Il SN & ST AAlTSTehel a?'ﬁa EaR R

operator ? HA T ?

(A) Boolean (A) SfeTaq
(B) Logic ) ISUEED
(C) Integer | (C) s
(D) All of the above (D) 3udisr ot
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100. In which addressing mode the operand

101.

102.

is given explicitly in the instruction ?
(A) Absolute

(B) Immediate

(C) Indirect

(D) Direct

What can be passed by non-type template
parameters during compile time ?

(A) int
(B) float

(C) constant expression

(D) all of the above

100. fFra wfd A ¥ Frdw & sue gyEd @

T ST ® 2

(A) Absolute
(B) Immediate
(C) Indirect
(D) Direct

101. -9 T Yol ¥ woEe Td |

= qre foFe ST At § 2
(A)
( t

@ constant FHHL0T
'\ o (D) ST Al

Delay in Handoffs is caused due 4o : O 102. Teatiwy A foere w1 FROIE :

(A) Unavailability of thec e
(B) High traffic co;ldl

(C) Weak signal @

(A) T ] STTICTSHA
B) = zifthss t feaft
(€) wHSR farre = feafaat

(D) All of :gi'@w (D) ST W
103. The operation which is commutative but . SEE W fafa § Af sier aren @
' not associative is : ®:
(A) AND (A) AND
(B) OR (B) OR
(C) EX-OR (C) EX-OR
(D) NAND (D) NAND
SPACE FOR ROUGH WORK / T &4 & ol s
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104. Which multiple access technique is used

o

104. ST LAN ® IEEE 802.11 &% g1 T4

by IEEE 802.11 standard for Wireless oo 9] WY otk ol TN BT © ?
LAN?
(A) CDMA (A) CDMA
(B) CSMA/CD (B) CSMA/CD
(C) ALOHA (C) ALOHA
(D) None of these (D) T8 hIS Tl
105. Which of the following problem is  105. f= & ﬁ@‘}ﬂm srfeaESad & ?
undecidable ? O
(A) Membership problem for CFL - . (AQFL % forq Herfer greem
S ® :
(B) Membership problem for regular \(B) TR ¥ & fog Herf¥rg gree™
sets O :
(C) Membership problem for CSk (C) CSL & fag Hewfem wreem
(D) Membership problem e O (D) type O HI™T ¥ ot Herf¥g greew
languages *
106. Constructive c%&m (COCOMO)  106. F¥fad Hie Aigd (COCOMO) fohd TR

isa:
(A)
(B)
©)
(D)

Bottom-up cost estimation model
Top-down cost estimation model
Integrated training model

Design model used for

implementation

FIHEAL?
(A) Sfen-219 HiE TEAYH Alsd
II-TA S Ty Aled

(B)
(©)

(D) geciieed & fau fesmet Aied &
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107. In OSI, which layer is responsible for
dialog control and synchronization ?

(A) Presentation layer
(B) Network layer
(C) Transport layer

(D) Session layer

108. If CPU and I/O interface share a
common bus than transfer of data
between two units is known as :

(A) Asynchronous
(B) Clock dependent

(C) Synchronous

(D) Decoder dependeQ:

109. Which of th&wing is not a type of

inheritance ?

S

107. OSI ¥, TSI shelel Ta fHhIAEsyH & fag
frrdm Em Fm E?

(A)  TSI=EA o
(B) “Tah
(C) T TR
(D) WA TR

/O T=THhY TS HFA 99 i
# @ 9 gfe % S e w
FHeerd

108. afg

Asynchronous
Clock dependent
(C) Synchronous

(D) Decoder dependent

109. 39 ¥ ¥ UF TR HT YR T4 © :

(A) Single (A) fama
(B) Multi-level (B) TRI-eEd
(©) Simpie © fama
(D) Hybrid (D) sl
SPACE FOR ROUGH WORK / 1% &Td & fod wre
Set - A 1208/NE-BQ/RCE-M



110. Which of the following concurrency 110. F=faf@d concurrency control YR H

control protocols ensure both conflict @ FHI9-WT conflict serializability 3z
serializability and freedom from freedom from deadlock GMH¥=@ % 7?7
deadlock ?

() 2-phase locking ()  2-phase locking

(I) Time-stamp ordering (II) Time-stamp ordering

(A) (I) only (A) wad (I)

(B) Both (I) and (II) (B) (1) 3R (II) S

(C) Neither (I) nor (II) (€)@ (DR A E (I
.(D) (I) only (D)

111. The data link layer divides the stream of 111. PR Y AASE BT g e § 9w faei
bits received from the network layer into \% i 9 fearge w6 9 g fois T
manageable data units is called : O Y HET SR ¢
(A) Frames (A) HHH

*

\\\@\

112. The data link layes of Ethernet consist of 112. 39 &1 22 faw dm 4§

(B) Packets \Q (B) Y¥eH
(C) Segments O (C) di=d

(D) Bytes (D) Sz

the ___ sub-layer _________ OO HERE ’@?ﬂ g1
sub-layer.

(A) LLC and MAC (A) LLC 3R MAC

(B) MAC and bridge (B) MAC iR sfis

(C) LLC and NIC (C) LLC 3R NIC

(D) MAC and PCS (D) MAC iR PCS
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113. The C declaration

114.

115.

int A[3][5];

containing __ element, each of

these elements is itself an array containing

integers.
(A) 3,5
(B) 53
G 3,3

(D) 5,5

Recursive procedures are implemented
by :

(B) Queues
(C) Linked lists Q
(D) Tree . O

By levelling @e mean :
(A) Splitting it into different levels

(B) Make its structure uniform

(C) Summerizing a DFD to specify only
the essentials

(D) Expanding a process into one with
more sub-processes giving more
detail

113. C fesw™

int A[3][5];
o TR e g, e e

T T o ¥ o ECISES|
gl

(A) 3,5
(B) 53

€ 3,3

(D) &\

L 2
(A) Stacks O% (A) W

. DFD 1 SafeiT sl ¥das © ¢

(A) T8 faf= w | fafsa e
(B) 9 ¥F uniform ST

(C) oot TawTs aegal & ffde w3
% foT T S UF. Sl S 9

(D) U ufean & sAfues Su-gfhaet &
iy fowar § fawafa s
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116. Consider the following transaction

117.

118.

involving two bank accounts x and y.
read (x); x : =x—50; write (x); read (y);
The constraint that the sum of the
accounts x and y should remain constant
is that of :

(A) Atomicity
(B) Isolation
(C) Consistency

(D) Durability

Function overloading is also similar to
which of the following ?

(A) operator overloading
(B) constructor overloading

(C) destructor overloadln :Q

(D) all of the above

Which of the followmg is not form of
memory ?

(A) Instruction cache
(B) Instruction register
(C) Instruction opcode

(D) Translation look aside buffer

. Prefafed s w faam Y fod 1 S

TR 1 3R y WiE §1

read (x); x : =x—50; write (x); read (y);
x Sﬂ'{ym’ﬁﬂm@w-@@mﬁl
I constraint FT AR © 2

(A) ewifHfEe
(B) STEHIITH

T § fras T €2

O%A) TR SRAIET

(B) HEERT SETAET
() TergaRy slEwifET
(D) Sl |t

118. Fr=1 § @ $H-T1 BH Y G TE 8 ?

(A) Instruction cache
(B) Instruction register
(C) Instruction opcode

(D) Translation look aside buffer
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119. An exception condition in a computer
system caused by an event external to the
CPU is known as :

(A) Half
(B) Process
(C) Interrupt

(D) None of above

120. A stable multivibrator are used as :

(A) Comparator circuit
(B) Squaring circuit
(C) Frequency to voltage ¢ e

(D) Voltage to frequ nverter

121. Which one &Howing can never be

accessed by inherited class ?

(A) public member function
(B) private member function
(C) protected member function

(D) all of the above

119. U HXR Ol H Th IR el Bl
CPU % fau smsdl se % &9
B ST S S
(A) Half
(B) Process

(©) Interrupt

(D) SR § HE Tl

T Ead F w9 H
KR

Comparator circuit

Squaring circuit

(C) Frequency to voltage converter

(D) Voltage to frequency converter

121. =0 O ford) T o) TTeNCS e St v
T T gl § ?

(A) Ui HeR e
(B) WA TR e
(C) TRHRT HeR FieH
(D) YU Hqft
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122. Which of the following language over
fa, b, ¢} is accepted by deterministic

pushdown automata ?

(A)  {wewR|wefa, b}
(B)
©)
(D)

(wwR|wefa, b, c}*}
{a"b" " |n = 0}
{w | w is a palindrome over {a, b, c}}

123. The infix expression A+ ((B—C)*D) can

be represented in prefix notation as :
(A) A+B-C*D
(B) +A*-BCD
(C) ABC-D*+
(D) A+BC-D*

124. Which of the following is not an

(&) R OQ

“” 2
(©) AggregationQ
(D) Encapsulah&

The binary equivalent of the decimal
number 0.4375 is :

(A) 0.0111
(B) 0.1011
(C) 0.1100
(D) 0.1010

programming concept ?
Abstraction

Polymorphism

125,

B ¥ Q ®F & 9 {a, b, ¢} % AT
deterministic pushdown automata % B

e §?
(A) {wewR|wefa, b}'}

122.

wwR |wefa, b, cJ'}
{a" bt |n = 0}

{w | w is a palindrome over {a, b, cl}

123. IR THEIETA A + (B~ C)*D) w1 fifther

FRIF T :
(A) A
(B) BCD
, (C) BC-D*+

O%\D? A+BC-D*

124, =1 Q 1 TH S wEnHT Hehew TG
R

(A) TS
(B) wieiwifthen
(C) i
(D) TASTATT

*D

125. 0.4375 THWA TR KT AETH TA
B,

(A) 0.0111
(B) 0.1011
(€) 0.1100
(D) 0.1010
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126. Match List-I with List-Il and select the
correct answer using the code given

below the lists :

List-I

(a) Disk scheduling (i)

(b) Batch processing

(c) Time sharing

(d) Interrupt processing

Code :

(b)

(i)
(i)
(iv)
(c) (d)
(i) (@)
(i) @

d

List-11

Round-
Robin

SCAN

LIFO

FIFO

&
\Q

126. List-I % @Y List-Il #1 faam & &Ik %<
T IYGNT T WEl ST H1 FFT HL | List 7=

ERIRCIEE
List-I List-1I
(a) Disk scheduling @ Round-
Robin
(b) Batch processing (i) SCAN
(c) Time sharing @) LIFO
(d) In@*pmcessmg (v) FIFO
()® @ @® © (@
(A) @) @) @@ @
(B) (v) @) () ()
© @ @) @ )
D) () Gv) () ()

127. The value ofollowing expression <127. frfefEa fsafe ((13/4*3)%5+1)
((13/4%3)%5+1) is : TR
(A) 5.75 (A) 5.75
(B) 3.95 (B) 3.95
(C) 1.4875 (C) 1.4875
D) 5 (D) 5
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128. Which of the following are Regular Sets ?

129.

@
®)
©
@
*)
®)
©
D)

{@" b2 | n=0, m=0}
{a" b" | n=2m)}

{a" b" | n! =m}

fxey | %, y € {a, b}
(a) and (d) only

(a) and (c) only

(a) only

(d) only

Which of the following is true for

language {aP | p is prime} ?

(@)
(b)
(©)
(d)
(A)
(B)
©)
(D)

128, P Y SR AR R E?

{a" b2 | n=0, m=0}
{a" b | n=2m}

{a® b" | n! =m}

{xey | x, y € {a, b}
fad (a) 3R ()

fad (a) 3 (c)

fak

O

429. Language {aP | p is prime} Ffaufmda
\%ﬁ A ®?

It is not accepted by Turing Machi O :b

(A) (A) 98 Turing Machine ¥ g T T
.4
(B) It is regular but not co (B) de TR ¥ fohg context free & T
(C) Itis context free @a lar (C) 9% context free ® fq regular T R
(D) It is neither r CFL but (D) T&d @ TR ¥, 7 CFL T Turing
accepted & uring Machine) Machine % gRI TiHH ¥
130. Banker's Algorithm is used for . Banker’s Algorithm RE H
purpose. fre 32 fean ST €|
(A) Deadlock avoidance (A) Deadlock avoidance
(B) Deadlock removal (B) Deadlock removal
(C) Deadlock prevention (C) Deadlock pljevention
(D) Deadlock continuations (D) Deadlock continuations
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47 Set- A

1208 /NE-BQ/RCE-M



131. The loop in which the statements within

131, < S99 statements 9 9 Y T 9

the loop are executed atleast once, is fremfea 2 © _ B T
called : ‘
(A) do...while (A) do...while
(B) while (B) while
Q) for (©) for
(D) goto (D) goto
132. Which of the symbol is used to denote the ~ 132. ¥ Weileh 1 Y4 Relational s #
projection operation in Relational projecti 3T =l T < ferq fepam siman
algebra ? 22
(4) o D)
®) = Co7 -
© o ’\ . O o
(D) A Q ©)
O
133. A complete binary tree of lev oW 133. Ao 5%#@613?1%'@13%%%@%%?
many nodes ?
(A) 15 . OQ (A) 15
(B) 25 & (B) 25
(€ 63 () 63
(D) 33 (D) 33
134. Which of the following is an important 134, 1= § & ¥ 7g@qU 1 I THAH
data transfer technique ? 2?7
(A) CAD (A) CAD
(B) CAM (B) CAM
(© MMA (©) MMA
(D) DMA (D) DMA
SPACE FOR ROUGH WORK / % & & o wig
Set - 48 1208/NE-BQ/RCE-M



135. Can constructors be overloaded in derived
class 7

(&)

(B)

Yes, always

Yes, if derived class has no
constructor

©
(D)

No, programmer can’t do it
No, never

136. The following grammar is :
G=(N,T,P,S)

N={S, A B CD,E}
T={a, b, c}

P: S— ABCD

BCD — DE

O
é\O
Doa \Q

E — bE \'

E—c
(A)
(B)
(@)

(D)

type 3

type 2 but not type 3
type 1 but not type 2 -

type 0 but not type 1

135. ¥ $eal % feugae W H fans
T HHS 7

(A) I, EAu
(B) ¥, af fetgee o H SRl T ¢

(C) =T, TR T R Heha

(D) &, Tt @l
136. 91 G a R
GAN TP, S)

’Qv (S, A, B,C, D, E}
O%= fa, b, c}

P: S— ABCD
BCD — DE
D—aD
D—a
E - bE =
E—c
(A) type3
(B) type2 ™ type3 T
(C) type 19 type 2 Tl

(D) type 0 9 type 1 T
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137. Which is the process of adding one extra
zero whenéver five consecutive one’s
follow a zero in the data and flag field
sequence does not inadvertently appear
in the frame ?

(A) Bit Puffing

(B) Byte Stuffing
(C) Un Stuffing

(D) Bit Stuffing

137. T 991 R Hies faeag § et ue
Hisiegfd 1 S % 91 3T & 39 WHd T
stfafiea S s %A H gheEdeel THE
T2 BT & B Sed & e ufpm e S

(A) T gumim
(B) dmEE THIT
(C) Un ®&HT

S

138. Consider the following finite state® 13§. 19 Finite state automaton &1 21
automaton : %
b a b a b
b b a O
— T
—»-&Ei | ~@e@_, @"
The lang@ccepted by this feu 7T regular expression % BRI I8
automation 18”given by the regular automation f¥ language % B accept
expression : T ?
(A) b* ab* ab* ab* (A) b* ab* ab* ab*
(B) (a+b)* (B) (a+b)*
(C) b*a(at+b)* (C) b*a(a+b)*
(D) b* ab* ab* (D) b* ab* ab*
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139. Speed of microprocessor depends on : 139, UEHITEER &1 i _ . w R

A
(A) Access time (A) Access time
(B) Data bus width (B) Data bus width
(C) Response time (C) Response time
(D) None of these (D) ¥ q FIS TRl

140. R (A, B, C, D) is a relation, which of the ~ 140. R(A, B, C, D) T RAwE €1 39 9 S-|

following does not have a lossless join BCNF decomposition, lossless join
dependency preserving BCNF depende serving T ®?
decomposition ?
(@ A—-BB—->CD ( B, B—CD
A—-BB—->CC—-D )] by A—->BB->CC-D
®) A
(¢ AB—>C C—AD ' (0 AB->C C— AD
(d A-—->BCD O (d) A —BCD
(A) (b) only (A) %59 (b)
(B) (o) and (d) 60 () (0 FR ()
.
© (@) SR ()

(©) (a) and (b) %
(D) Only (a) ’& (D) % (a)

141. The other network premises withinwhich ~ 141. FE 37 AT TER o iRt P o

users roaming from its HN (Home 3T '@'F[ oo § AMHT P A 98 FEARE ¢
Network) is called :

(A) Foreign Network (A) HRA ek

(B) Home Network ‘ (B) =™ Feah

(C) Ad-hoc Network (C) TS-&® A<

(D) None of these (D) Esu o ]
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142. Inunit testing of a module, it is found that

for a set test data, at the maximum 80%
of the code alone were tested with the
probability of success 0.9. The reliability
of the module is :

(A) At least 0.72
(B) At least 0.81
(C) At most 0.72

(D) Greater than 0.64

142, Hieqe ¥ gfe wew ¥, a8 9rn 5w § fR

e T ¥ TH AT F A, o we w
TfreRaT 80% TR TWETdl I WU 0.9 H
arg TAer fEar T o1 Aied Wi
fremafafad € ¢ ‘

(A) HA ] HH 0.72
(B) H § ®H 0.81

(C) 0729

(D)&sﬁ aifeen
O

143. Consider the following language over® 43, IeHEE={0, 1, ¢} % faw Fre wmn fean ®:
alphabet = {0, 1,’|c1} % ¢
L,={0" 1"|n=0} O L,={0" 1"|n=0}
L,={wew'|we {0, 1}*} Q L,={wew" |we {0, 1}*}
Ly={ww'|we {0, 1 O L,={wwT|we {0, 1}*}
w! is the revierée w ﬁ?’lwfﬁfﬂqﬂ'ﬂ(ﬁ‘q’ﬁ)w%l
Which of\'nese languages are 79 Q @A T am feetfuffies @uh T
Deterministic CFL ? §7?
(A) None of the language (A) € o s e
(B) Only L, @) fakL,
(C) OnlyL;andL, © fakL eRL,
(D) All the three languages ‘(D) st i
SPACE FOR ROUGH WORK / T% &1 & e s
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144.

145.

146.

A __ table is used for address

Translation.
(A)
(B) word-map
©)
(D)

bit-map

page-map

None of these

Given references to the following pages

by a program :

0,1,4,202651,2321,2621,3,
6, 2.

Number of page faults will occur, if the
program has three page frames available
to it and uses FIFO replacement.

. :
D) None of these &O

The physical lo&!on of a record is
determined by a mathematical formula

B) 8

(
(
(C) 13
(

that transforms a file key into a record

location is :
(A)
(B) B-tree file
©)
(D)

Hashed file

Indexed file

Sequential file

144.

145.

4

O

146.

address Translation & QT __ 4
table STAIT feaT ST B 1

(A) foe ¥
(B) =€ HY
(C) U< 8
(D) o9 | %S T

U program % g 7 page 1 reference
fean )

0,1,46 2%,5,1,2,3,2,1,2,6,2,1,3,
o

% UME 3 page frames ST 7
3 FIFO replacement %1 J9ANT HIAT %, a
No. of page fault T &I ?

A 7
(B) 8
(C) 13
(D) T | & T

et o siifies A Tifvrda g3 g Freifa
e S S wige Soit ® e e |
TEA AT ¢

(A) TS WA

(B) B-ZI A

(C) TTSHS WA
(D) HiRREe R
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147. UDP packets have maximum length of

148.

576 bytes. Does this affect DNS

operation ?
(A) Yes

(B) No

(C) Falil data

(D) None of these

What will be the output of the program ?
#include <stdio.h>

int main ()

sy O

{

. ®

for (i<=5;i
Pmﬂ‘(\
return 0&

’

(A) 0,1,2,3,4,5
®) 5
© 1,2345

(D) 6

00)

147. UDP ¥¥ed § 576 gl i stfaenad g

A ¥ w0 I8 DNS AR &l guifod
ETGIN-Y

(A) &

(B)

(C) e ‘é‘IET
(D) T i T

ram T output 1 B ?
include <stdio:h>
int main ()
{
inti=0;
for (i<=5;i++);
printf (“%d”, i);
return 0;
}
(A) 0,1,23,4,5
B 5
© 123,45

(D) 6
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149. The correct matching for the following  149. forer g o1 wew fre @

pairs is :
I II I it
(a) DMAI/O (i) High speed () DMAI/O (i) High speed
RAM RAM
(b) Cache - (i) Disk (b) Cache (i) Disk
() Interrupt I/O  (iii) Printer () InterruptI/O (iii) Printer
(d) Condition code (iv) ALU (d) Condition code (iv) ALU
register register
Code : %<
@ & © @ (a)@ (@
(A) (@) @) @ @) @ ()
B) @@ @ @) @) (i) (111 (iv)
© Gv) @ @) @ W) (i) ()
(D) @) @) ) @ OQ(D) (i) (i) (IV) (i)
150. Which of the following ,is 150, Fre & S @ Yoger Teie faed %I TH
characteristic of cellular ne ferdroran & &2
system ? |
(A) Accommod @umber of (A) I5d F TH T T B CHHESE
users % EaS
(B) Large geogra ¢ area (B) TS SR TRET
(C) Limited frequency spectrum (C) Hifga wieadt ez
(D) Large frequency spectrum (D) TSt i R
-00o0- -00o0-

SPACE FOR ROUGH WORK / 1% &Td & fa& i
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SET - A
IR 3ifehea T T WU : 3.00 6 INferehaw 3ek : 150
Time for marking answers : 3.00 Hours Maximum Marks : 150
e :
1. 39 Uy-YRaent | o1 wmn i
(1) fefsea wifsen (2) THT IMHESIYA TS SThicaeR

(3) annfHT e (@) oRIEFE

(G) o o wregeyE (6) Safdn faww

(7) SREES @) Ty fawen g ERIREI
(9) FEERR eI (10) WA W{ﬁ@

T % IW, & T OMR IW-2 (
e ST oifera i W 1/4 3
et oft e & Ferpore A

OMR SR-¥M2 (3Tat- A A G V) g a7 /R Y 9% %e W A
a4 O a1 faeae % weoEEy 98 TUE B 9 |

o @

Note : Q
1. This Quest& ooklet consists of Parts namely :

(1) Digital Logic (2) Computer Organization and Architecture

(3) Programming Languages (4) Data Structures

(5) Theory of Computation (6) Operating System

(7) Databases (8) Information Systems and Software Engineering
(9) Computer Networks (10) Mobile Communication. |

Each question carries 1 mark. All 150 questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided. -

1/4 mark will be deducted for each wrong Answer.

Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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